fom - 8 - GI8ERE (B3 FE)

BEKRF
i ERBEBEENRZRE [
BEFED e HIAA 71 162 82 2.0 900 400 1,300 1,009.0 786.0 840.8
FR - XRE
ERBEBEENRZRE |
e AIRA 39 101 45 2.2 900 400 1,300 908.0 770.0 824.2
FR - ERE
IREEBEENRZRE |
e HIAA 7 9 7 1.3 900 400 1,300 - - 806.7
FR - miE
IREEBEENRZRE |
" AiHA 5 4 4 1.0 800 500 1,300 - - 875.5
FR B
IREEBEENRZRE |
e . AIRA 5 5 5 1.0 800 500 1,300 - - 753.8
FR - Eilr
IREEBEENRZRE [
e AIRA 7 21 7 3.0 900 400 1,300 - - 861.9
R - B
FREEVEEMFE |8 24 101 35 2.9 900 200 1,100 848.0 685.0 735.4
BREFZMEEEI-—X) |[BEER AIEA 70 254 82 - - - - - - -
T7A4F > AFEHR] AIHA 23 51 23 - - - - - - -
TEFEFR AIEA 31 146 56 - - - - - - -
=ETBEHRFER HIEA 21 42 21 - - - - - - -
HESRTLER HIEA 27 76 32 - - - - - - -
BIRBIE  EEE - SNERE|RIHE A/ 86 363 111 3.3 500 400 900 693 600 633.6
AIHl BAR 900 400 1,300 986 838 877.7
EIRRIE #8% - S\EE|RIE ABR 86 206 103 2.0 500 400 900 692 556 602.0
AIHl BAR 900 400 1,300 947 816 867.5
BEER %5 60 343 74 - - - - - - -
T7A4F > AEHR] 145 20 62 30 - - - - - - —
THEREFR %A 28 159 29 - - - - - - -
SETEIRFR %5 18 50 20 - - - - - - -
HESRTLFER %5 24 76 30 - - - - - - -
EIRRIE EEE - SNEE|BE A/ 75 340 93 3.7 500 1,000 1,500 1,119 901 963.7
#%H BAX 900 1,000 1,900 1,373 1,149 1,223.7
EIRRIE #58% - S\EE |8 A/ 75 350 90 3.9 500 1,000 1,500 1,167 918 999.2
#%H BAX 900 1,000 1,900 1,448 1,197 1,271.2
BEFBREEI—X) |[BEER YFREE BEE - —fE |10 0 0 1.0 - - 600 - - -
T7AFRER RlER BeE - —1& 0 0
THEREFR YFRlER BER - —1& 2 1
SETERFR YFRliER ReR - —1& 0 0
HESRTLFER YFRhEE ER - & 1 0
BEER YFREE RSB - —fE |40 13 6 1.8 - - 600 312 108 162.7
T7AFRER YFRhRE A8 - T 4 0
TEREFR $FRlEE ReE - — & 15 7
SETERFR $FRlEE RER - — & 9 3
HESRTLFER $FRlEE BeE - — & 5 2
F—AYATIORES (TP ITOXER  |aifh 50 139 69 2.0 900 400 1,300 1,004 816 868.1
F—AUATORER |EH 20 71 22 3.2 900 600 1,500 1,171 1,070 1,123.5
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